Unit 3 Life on Earth              Topic 1 Biodiversity and the Distribution of Life             
            National 5

Homework 1
1. An investigation was carried out into the effect of the levels of three environmental factors on the distribution of woodlice.

The factors investigated were the availability of food, light intensity and predation.

The table shows the results of the investigation.
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(a) (i)
Which of the environmental factors investigated is an abiotic factor? 
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(ii)
Use the words high, medium and low to describe the combination of environmental factors which would result in the highest number of woodlice in an area. Each word can be used once, more than once or not at all.
(b) Underline one option in each bracket to make the sentences correct 
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2. A natural pine forest provides excellent habitats for many different organisms.

One of these organisms is a large bird called the capercaillie which nests in the deep vegetation on the forest floor. In summertime it eats berries, leaves and stems of the blaeberry and other forest plants. In winter it eats Scots pine needles and cones. The capercaillie's natural predators are the fox and the wild cat. Crows eat their eggs.

Use information from the passage to answer the following questions.

(a)(i) Complete the boxes below to show a food chain. 
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(ii) Complete the table of terms and named examples from the passage.
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(iii)
Natural pine forests show high biodiversity. 
What is meant by the term biodiversity?
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______________________________________________
(b) 
Give one example of a human activity which could affect biodiversity. 
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(c)	Centipedes eat woodlice and other small animals.


Woodlice make up 10% of their diet and spiders account for 20%.


Beetles make up 10% of their diet and other insects make up 60%.


Present this information as a pie chart.        
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_________food supply


_________light intensity


_________predation 
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